
Problems of the Day 2019 18

There are 12 people on a bus.

• At the first stop 3 people get 

off the bus.

• At the second stop 5 people 

get off the bus and 8 people 

get on.

How many people are on the bus 

now?

What is the mass of the weight 

on the second scale?

1 2



Leo has £25

He buys the following items.

He has £12.50 left.

How much does the pizza cost?
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Alysha and Beth go on a bike 

ride.

• In the morning Alysha cycles 3 

times as many km as Beth.

• In the afternoon Alysha 

cycles 14 km and Beth cycles 

48 km.

• They have now cycled the 

same distance.

How many km did Alysha cycle in 

the morning?

1 2


